MES VASANT JOSHI COLLEGE OF ARTS & COMMERCE
ZUARINAGAR, GOA
BA III SEMESTER END EXAMINATION, OCTOBER, 2024

KONKANI KON- 201 (Major - II)

WRITING FOR MEDIA

DURATION: 2 HOUR MARKS: 80

ATTUAT — 1) TTTes T Hfekrl ST,

2) ST ST ST 0T STEIed.

T.1.37. GehaeT eenfieear gEi=at S s, (8x2=16)

1) STHR ATEIHT JEd FohR Ga?
2) USRI ST Tsh SATehaiic it sheeh Garer?
3) HEId HTEHI SHTeTTes RIS SRATT

4) STRATT Ertaren foheaTeh Tacd STTET?

5) TTErAT HEid HTEAH AT SATET=R ISTeS BTeTd

6) JLETMT T FERIATIETd FERIdT il SATE STI?

7) EHAET bR ST,
8) 21.a8. fesrrtarctt wier sheft STTfeh Strr?
T.2.37. AR faeiieea ei=a St s, (2x3=6)
1) SRR ATTes! T STTHIT T2
2) wVRET=A fut s,



T.2.37. GehdeT faeriieear T=at STy ST, (2x3=6)

1) eI &1 R Areard forRft s
2) SR HTEHT FEUT SRETUTH ST Hssh THTSTTSh sh3l AU BT HTETd?

T.2.31T, GehdeT f[aeiieear T=at STy ST, (2x3=6)
1) Yea @it o e wifedr fercarsh Tr=i?

2) TERMT=AT SiqeTeieh Brev= ==l shi=l.

T.2.3. Thad fReiicear TE=t S SETd. (1x4=4)
) GERMT=AT STAH! G Sl S IS ST,
T.3.31. Oehaet [raTReedT STETedT STl ST, (2x3=6)
1) TG TR fohd?
2) TeuTear G S| TR hdTeh W=t geehie TS STTEdr?
ar
T.3.37. TR feenfieea wei=a St s, (2x3=6)

1 A STRdiaen “Hewr BT geehmr e s,
2 ST TIA TR SATTATAT HATITSITEh TS Feedl ST, forem wowe M.

T.3.31T. GehdeT [AeTieear et STy ST, (2x3=6)
1) et Saurdi= qieTdes FIft AEdar?

2) ST T ST T oA HafeT e fehcateh STerl Uger?

.33, U [SeTieear TET= S ST, (1x4=4)
IDIRICEIRRSICIERICERCRER

T.4.37. GhaoT faeniieear TS i=a Sy s, (2x3=6)
eI S R forer fHargier s

> CERHATR Aot T =1 G Hee Fohrl foreft fored e s,

a1



T.4.37. Gehde faeiieear Te=at Sy ST, (2x3=6)
1) U AGidei Wi It ST T2
2) TSI Tl STt St shaft STTHdT & qH=aT St TI9e shre.

.43, GehdeT f[aeTiieear TE=at STy ST, (2x3=6)
1) SRRIAERT=AT HaT =l SATEdrd?
2) HUTEEhHRT @ Yo sRATd.

T.4.3. TR Remiicear TET=T S SETd. (1x4=4)
1) TS SRR ST TSt ST FEUre fohd?

T.5.37. Aehd el [AETeear T =at AT 93T, (2x3=6)
1) STt sRiaHTe JehR TI9E .

2) =R STt SEdT T 1 el SoRdTe ST

7
T.5.37. Tl faenfieear TEi=at ST ST, (2x3=6)
) SR [HegehT= Sl shei SATHUTh ST?
» ST SEINUTI Aot Fecarr=a Teiredt fereft sreamai.
T.5.31T. Gehad foeiieea w=i=a St s, (2x3=6)

1) UG et ST sIerT QT WTe et ST ST

2) hicRUTaeaT hid FHTeATe dial ST,
T.5.3. Ghdc [aeTieear == ST ST, (1x4=4)
1) 1. [ foar gi=ar arat diemide Jeeh Tae?




